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General Instructions:

] This Question Paper has 5 Sections A-E.

2 Section A has 20 MCQs carrying [ mark each

3 Section B has S questions carrying 02 marks each.

4 Section C has 6 questions carrying 03 marks each.

5. Section D has 4 questions carrying 05 marks each.

6. Section E has 3 case based integrated units of assessment (04 marks each) with sub-parts of the
values of 1. 1 and 2 marks each respectively.

7. All Questions are compulsory. However, an internal choice in 2 Qs of 5 marks, 2 Qs of 3 marks
and 2 Questions of 2 marks has been provided. An internal choice has been provided in the
2marks questions of Section E

8. Draw neat figures wherever required. Take n =)2/7 wherever required if not stated. -

SECTION - A (1x20=20)

Muitiple choice questions-

Q

1.

Q2.

Q3.

# Q4.

%Q

5

4

Let x and y be rational and irrational number respectively. Then x +y is necessarily
(a) awhole number (b)  a rational number
(c) anirrational number (d) a natural number

The rational number 0.3 can also be written as

3
@ 3 ®) %
1
(c) 0.33 d 3
Given a polynomial p(t) = t*- * + 2 + 6, then p(-1) is
(a) 3 (by ©
€) 9 (dy -1
A point P(a, b) is such that: a < 0, b> 0. In which (quadrant docs the pont P he?
(a) Fir.‘;1 Quadran[ “ﬂ Sv-.‘ﬂll‘-l (‘]lli][llillll
(c)  Third Quadrant () Fourth Quadrant

: . . o RS or class Hmit 1s 83, the
Ina continuous frequency distribution, class mark ol a class is 82 and lower class I 83, then

its upper class limit is

(El] 86 (h) 84
(© 83 (87 o
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-+ Q. Total surlace arca of right circular cone of base diameter 2vand slant height 7 is equal 1q
(@) m? 4/ W a4l
® 2m* (dy 2mrf
- Q7. If volume and surface area of a sphere is numerically equal, then its radius is
(a) 2 units {b) 3 units
(®) 4units (d) 5 units
Q8. The length of each side of an equilateral triangle having an area of 9v/3 cm? is
(a) 8cm (b) 36cm
(c) 4d4cm @ 6cm
-Q9. AB, CD and PQ are three chords of a circle with centre O, the smallest chord AB is of length
3 c¢m, the longest chord CD is of length 10 cm and chord PQ is of length 7 cm, then radius of the
circle is
(a) l5cm (®) 3.5cm
@ Scm (d) 6cm
Q10. AD is a diameter of a circle and AB is a chord. If AD = 34 cm, AB = 30 cm, the distance of AB
from the centre of the circle is
(a 17cm (b) 15cm
() 4cm (d) 8cm
Q11. ABCD is a rhombus such that ZACB = 40°. Then £ADB is
@ 40° (b) 45°
(c) 50° (d) 60°
Q12.  Four points A,B,C,D are joined together in order and we noticed AB = CD = 5 cm and also, AB i5
parallel to CD then the quadrilateral obtained isa
(a) rhombus (b) trapezium
(¢) parallelogram (d) rectangle
Q13. InAPQR, £R = £P and QR =4cm and PR = 5cm. Then the length of PQ is
- (a) 4cm (by Scm
{(c) 2cm (d 25cm
Ql4, IfAB=QR,BC=PRandCA= PQ, then
(a) AABC = APQR () ACBA =APRQ
(c) ABAC = ARPQ (d) ABCA =APQR
Ql5.  If the difference between two complementary angles is 10°, then the angles are
(a) 50°,60° (b) 50°,40°
) 80° 10° (d) 35°45°
. . . ) ) ) to linc 7"
4Ql16. Linelis perpendicular to line m and line m is perpendicular to line », then line lis___—
(oL parallel (R perpendicular B
(c) intersecting (d) none of these “""fﬂar:' i
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- . Total surfee are of vight eireular cone of base diameter 2 and slant height /15 equial o

(a)  m W o+ ml
@ 2 (dy 2nr/
- Q7. I volume and surfuace aren of o sphere is numerically equal, then its radius is

(a) 2 unils (h) 3 units

(#) 4unis (d) 5 units

Q8. The length of each side of an equilateral triangle having an area of 9v3 cm? is

(a) 8cm (b) 36cm

(¢) 4dcem (@ 6cm

-Q9. AB, CD and PQ are three chords of a circle with centre O, the smallest chord AB is of length
3 cm, the longest chord CD is of length 10 cm and chord PQ is of length 7 cm, then radius of the

circle is
(a) 15cm (b) 3.5cm
@ Scm (d) 6cm

Q10. AD is a diameter of a circle and AB is a chord. If AD =34 cm, AB =30 cm, thcl distance of AB
from the centre of the circle is

(8) 17cm (b) 15cm
(® 4cm (d 8cm

Qil.  ABCD is a rhombus such that ZACB = 40°. Then £ADB is
@ 40° (b) 45°
(c) 50° (d) 60°

Ql2.  Four points A,B,C,D are joined together in order and we noticed AB=CD = 5cm and also, ABis
parallel to CD then the quadrilateral obtained is a
(a) rhombus (b) trapezium
(¢©) parallelogram (d) rectangle

_Q13. InAPQR,sR=¢PandQR= 4cm and PR = Scm. Then the length of PQ is
(a) 4cm (b) Scm
(d) 25¢cm

(c) 2cm

Ql4. IfAB =QR, BC =PR and CA = PQ, then
(a) AABC = APQR
(c) ABAC = ARPQ

(%) ACBA = APRQ
(d) ABCA =APQR

mplementary angles is 10% then the angles are
(b) 50°,40°
d) 35° 45°

Q15.  If the difference between two o
(a) 50°, 60°
) 80° 10°

. . . " 0} IinE n

4Q16. Line /is perpendicular to linc m and line i is perpendicular to line n, then line /15 It
(. parallel (§) perpendicular )
__(d)__none of these e Y

. (c) __intersecting
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Q17

Q19

The limear cquation 3v - 3 - 0, represented as ax £/t o 0 fiag
(@)  aunique solution ' W infimtely many solutions

(¢) two solutions () no solution

Which of the followmg needs a proof?
(# Theorem (b)  Axiom
(¢) Defimition (d) Postulate

Assertion (A) : The abscissa of point (3, 5) is 3.
Reason (R) : The pempendicular distance from y-axis is called its abscissa,

(@) Both assertion (A) and reason (R) are true and reason (R) is the correct explanation of
assertion (A).

(b) Both assertion (A) and reason (R) are true but reason (R) is not the correct explanation of
assertion (A).

(¢} Assertion (A) is true but reason (R) is false.
(d) Assertion (A) is false but reason (R) is true.

Assertion (A) : The zeroes of the polynomial f{x) = x?- 5x + 6 are 3 and 2.
Reason (R) : A linear polynomial has exffittly one zero.

(a) Both assertion (A) and reason (R) are true and reason (R) is the correct explanation of
assertion (A).

@) Both assertion (A) and reason (R) are true but reason (R) is not the correct explanation of
assertion (A).

(¢) Assertion (A) is true but reason (R) is false.
(d) Assertion (A) is false but reason (R) is true.

SECTION - B (2x5=10

Q21.  Express 18.48 in the form of f » where p and q are integers and q # 0.
Q22.  Ufix) = 5x? - 4x + 5, find f{1) + f(-1) + f10)
OR
If(a+b+¢) =9 and (ab + be + ca) = 26, find value of (@* + b +¢c2).
Q23.  If a point C lies between two points A and B such that AC = BC, then prove that AC =-AB
Explain by drawing the figure.
Q24.  In quadrilateral ABCD, BN and DM are drawn perpendicular to AC. Such that BN = DM. Prove
that O is mid-point of BD.
=G
A
oRr
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https://www.cbseboardonline.com



In the given figure. LM = MN. OM = MR. ML L PQand MN L PR. Prove that PQ - PR
P

Q

H R
W The radius of a circle is 10 cm and a chord of the circle is 12 cm in length. Find the distance of the
chord from the centre of the circle.

SECTION - C (3x6=18)
@¥. Inaone-day International Cricket match, played between India and England in Kanpur, two Indian
batsmen, Yuvraj Singh and M.S. Dhoni scored 200 runs in a partnership including 5 extra runs.
Express this information in the form of a linear equation in two variables. Also write the linear
equation in the form of ax + by + ¢ = 0 and indicate the values of @, b and c.

Q27.  Inthe given figure, lines XY and MN intersect at O. [f ZPOY = 90° anda:b=2:3 findc.

J\P
M &
- a
“w b
P 1 -
"y O
X Y
¢
=~
N
- OR

In the given figure, OD is bisector of ZAOC, OE is the bisector of ZBOC and OD 1 OFE. Show
that the points A, O and B are collinear.

7§ By -~

C

m-u-

-+ o)

_—— - e . —————— e - - — = - - — __{lf‘-.. ‘rt
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I 1 figure. AB = AC and D 15 a pomt in the interior of AABC such that 2DBC = 2DCB.
(028, Inthe given higure. Cand D
Prove that AD biscets £BAC ol AABC.

A

8 C

Q29. If the diagonals of a parallelogram are equal, then show that it is a rectangle.

@t Find the area of a triangle whose perimeter is 180 c¢m and its two sides are 80 cm and 18 cm.
Calculate the altitude of triangle corresponding to its shortest side.

Q31.  The volume of a right circular cone is 9856 cm?’. If the diameter of the base is 28 cm, find
(a) height of the cone
(b) slant height of the cone
(c) curved surface area of the cone
OR -
The radius of hemispherical balloon increases from 6 cm to 12 cm as air is being pumped into it.
d Find the ratio of surface area of balloon in the two cases. 2 W ¥"

SECTION - D (5x4=20)
Q32.  The following table gives the distribution of students of two sections according to the marks
obtained by them. https://www.cbseboardonline.com

Section A Section B
Marks Frequency Marks Frequency
0-10 3 0-10 5
10 -20 9 10-20 19
20-30 17 ;s 20-30 15
30 - 40 12 30— 40 10
40- 50 9 40 -50 L

Represent the marks of the students of both the sections on the same graph by two frequency
polygons. From the two polygons compare the performance of the two sections. §

Q33. The triangular side walls of a flyover have been used for advertisements. The sides of the walls
are 13 m, 14 m and 15 m. The advertisement yields an eaming of T 2000 per m? per year. A
company hired one of j(s walls for 6 months. How much rent did it pay?

OR
The perimeter of triangle is 50 ¢cm. One side of a triangle is 4 cm longer than the smaller side and

- the third side ; i '
4F-Eﬂ'lfﬂixﬂzlaﬁ ¢m less than twice the smaller side. Find the area of the triangle. _ _—
Mathematieg (Set-4) I [ 5] — ’ Class-1x
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) - o 2x7 - dx + b
Q4. Find the value of « and b so that x + | and v -1 are factors of X+ ax PAREIE A

Q35. [fx=2+3, find the value of x* +
X
OR

. o THAS 7-v5 _
Flm'lthewalue»:Jf'a:_-n'uclI::ol’t‘,J,_—M,E - r\@—a-*-\@b

SECTION - E (4x3=12)
Case study based questions

Q36.  Ram, a student of class IX, is residing in a village. One day, he went to metro mall along with his
brother. From there, he visited three places library, temple and grocery shop. After returning to his
village, he plotted a graph by taking the metro mall as origin and marked three places on the graph
as per his direction of movement and distance. The graph is shown below:

# v
. Temple
~ T L -
2 Loy |
b o '
- l #ﬂem} Mall }-
£ 2 3 4 5 ¢
@ -Grpcery shép-
1Y

(a) What are the coordinates of the temple?
(b) What is the abscissa point of the library?
(c) Write the sum of ordinates of grocery shop and temple. 2

OR
(¢} What s the distance between temple and grocery shop?

Q37.  In a residential colony, there was one circular ground. Members of the colony decided that there

should be a skating area available in circular ground so that the children have opportunity to excel

ﬁlcmselvc.s in skating. For that purpose they chose four points P, Q, R and S and fenced the area
as shown in figure.

—_—

—_——

Mathemaiics (Set-A) e e e

https://www.cbseboardonline.com



Now answer the followmg questions:
(a) What 1s the measure of £ZR?
(b) Whatis the valucof y?

(-c} What 1s measure of £P?

OR
(c) What is measure of 257

Q38.  Juhi a young girl found a spherical shaped coconut. She consumed th

€ water of the coconut and
used her creativity by decorating

the outer spherical covering of the coconut and sold it. [f the
radius of coconut was 2.1 ¢m (considering the thickness

of coconut negligible and coconut-fetty
filled with water) then, based on

n, answer the following questions:

the above situatio

(8) What will be the surface area of spherical coconut?
(b)  If Juhi could decorate only half coconut using paper then what would be the area of required
paper?

(c) Ifthe price for decorating coconut is 25

per square cm then what would be price of decorating
the whole coconut?

OR
_ What was the volume of coconut water Juhi consumed?

* % %
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